HMERMN Fa—x

BAME R AT - 1 6510H27H (8) NEAB R )—2FT
Bt HIE BT o8 SIMALL 63N (B4 50N - &tk 13A)
HDCP LR : 36 T80 T3 MEL
FHRHa—=2: B 7§ 1/ 1
FENEALERTE :  BHEEAvT 4 U EWIE) - 4E i (FWOIIE) FIR : %0 64E10H27H  (H)
JIELT BINEA i ] GROSS | HDCP | NET fii % JELL EEL o ] GROSS | HDCP | NET ik
E_ | e 3L 20 | 40 80| 14.3] 65.7 41 fir | Jeil s 42 | 47 89| 12.3] 76.7
EERR| i i 41 | a7 88| 22.0] 66,0 42 (7| kv B 47 | 50 97| 20.1] 76.9
(3 oIl —3k 44 43 87| 19.8| 67.2 43 i | TRk #_ 48 51 99| 21.5] 77.5
R Y TS 45 47 92| 24.4| 67.6 44 fir | fex AR 3% (1) 42 45 87 9.3 777
(G (D] EFF BT 45 | 44 89| 20.8| 68.2 @5 (T BE foA 47 | 52 99| 21.3] 7.7
(6 fe{NE METF 40 42 82| 13.0| 69.0 46 fir | %@ —HI 42 45 87 9.1{ 77.9
(7 il K FiT 43 44 87 17.7| 69.3 47 i | SRR B 45 49 94] 15.8] 78.2
(8 fip| KAMR 15 47 43 90f 20.0| 70.0 48 fir | @ {fF— 43 43 86 7.7] 78.3
(9 it KE Eb 40 44 84| 13.9| 70.1 49 {if | KGR &HE 46 46 92| 13.4| 78.6
10 i} HH BEE 45 47 92| 21.4] 70.6 5o fiF| E@ MF 43 45 88f 9.3] 78.7
11 {7 [ YW BEE 47 43 90f 19.3| 70.7 51 fif | K )il JABI 51 48 991 20.0! 79.0
12 fi |EER JHA 43 45 881 17.2] 70.8 52 i | IUF =% 49 54 103] 23.0|/ 80.0
13 fif |HF Sk 49 39 88! 16.7| 71.3 53 I |4 & 49 44 93| 12.7| 80.3
14 {if |[[F EH 41 41 821 10.6] 71.4 54 fir | KB I 40 44 84 3.5/ 80.5
(5 (DM FEih 41 44 85{ 13.2] 71.8 55 {ip| EA EiE 47 43 90 8.5 81.5
16 {if | 7B fRAL 44 43 87| 15.2| 7I1.8 56 {if | fEZE 153 47 44 91 9.4/ B8l.6
17 i | FF1L FEA 41 41 82| 10.0] 72.0 57 fir | XB9 R 43 48 91 9.2| 81.8
18 fir | fH (L FEi 44 42 86| 14.0| 72.0 58 i | #EEE i 51 53 104 22.1{ 81.9
19 fi | B&)II EH 45 45 90| 18.0| 72.0 59 {if | &R T 50 52 102| 18.8] 83.2
20 | X\ BT 43 51 94| 21.8| 72.2 760 i) %em EfF 57 59 116 32.8 83.2
21 i | FFT fik 44 38 82 9.71 72.3 61 {7 | &)1 52 52 104| 20.4] 83.6
22 i | BT RE 41 46 87| 14.4| 72.6 62 i |/ EE 53 53 106 22.4) 83.6
23 fir | Tji§ E 40 42 82 9.1 72.9 63 fir | (Ligy i 52 49 101 13.5| 87.5
24 fL|AF HiTFH 45 43 83| 15.1| 72.9
05 Dl & KT 47 44 o1| 18.1] 72.9
26 fr |BEE B 43 37 80 6.9/ 73.1
27 i | HEK =— 45 47 92| 18.9| 73.1
28 fir | BT 45 49 94| 20.9| 73.1
29 fif | HAE i 41 47 88| 14.8| 73.2
S0 (L5 HHE 39 40 79| 57| 73.3
31 {7 |AR4E AR 39 49 88| 14.6| 73.4
32 L |4 BE— 47 47 94| 20.1| 73.9
33 i | RAR EhE 46 45 91| 16.8| 74.2
34 fir [ Fnll 43 45 88| 13.7| 74.3
(35 fird/Ivbk RS 43 | 51 94| 19.6] 74.4
36 fif | SRR E B 41 44 85] 10.3| 74.7
37 fr | L i 44 43 87| 12.1| 74.9
38 fi | BT B 44 44 88| 12.5| 75.5
39 {if | Hik zh 45 42 87| 11.0| 76.0
3 7

76.

40 (LR EH— 44 39 83| 6.




HEEL Aa—X

BB  4&fn 64E10H2TH  (H) NFA V=2 5F
B RIS T 1 BMALK : 58 A (B : 50A - fiE : 8A)
HDCP LR : 36 RS IEIE
a—2R [N ] 1y 1)
FINBALHRE : BHEAVT {UNSWIE) - il (5 IE) ENRI : &Fn 64104270 (A)
JEAT. BIE 4 i} 5] GROSS HDCP NET it
)| Bl —K 42 41 83 20. 6 62. 4
B 1L B =R 38 37 75 9.1 65. 9
3 A S BAT 49 47 96 30. 1 65. 9
d P+ BF 43 40 83 15. 1 67.9
B 0| Bt & 40 43 83 14. 0 69. 0
& 7| KA 41 37 78 8.9 69. 1
EAERED 36 41 77 7.6 69. 4
8 | Ex A 8k 45 37 82 12.0 70. 0
9 \\i| FEE R 40 35 75 4.8 70. 2
10 N7 | g Bt 36 42 78 7.8 70. 2
11 {if |{EK &+ 43 42 85 14.5 70. 5
12 fif |fex K IEE 42 40 82 10. 9 71. 1
13 fiz | g FT 41 37 78 6.6 71. 4
14 {7 | lLBFE 5L1E 42 40 82 9.9 72,1
15 {7 | B H FfH 41 43 84 11.1 72.9
16 { | B% 1& 41 40 81 7. T 73 3
17 fif | it s 47 54 101 27. 1 73.9
18 i | FHi% T 42 45 87 13.0 74.0
19 L | RAT R 39 39 78 2.2 .7
20 fil A BF 16 44 90 15. 2 74. 8
21 7 | IR} & 44 49 93 17.8 75. 2
22 fir | )11 Zh 46 48 94 18.5 75.5
23 L | K BE 44 44 88 12..3 75. 7
24 fir | KpE & 46 44 90 14. 1 75.9
25 {ir | FEwh LT 47 47 94 17.9 76. 1
26 {if | BEA E£X 43 43 86 9.5 76. 5
27 {ir | HiH P& 45 45 90 12.3 76. 7
28 { | A 722 46 45 91 14. 3 76. 7
29 {if | KN FEAE 43 40 83 6.2 76. 8
G0 fir| it KB 46 45 91 14. 2 76. 8
31 {if | ARk IE 46 53 99 22. 1 76.9
32 (L | IR FEIR 40 43 83 5.8 7T, 2
33 iz | A Fl 46 47 93 15.8 172
34 {r | Al Bk 48 43 91 13.5 77.5
35 (Ll At BEA 39 16 85 7.3 77.7
36 if | =HE f& 47 46 93 14. 1 78.9
37 {r | ik fH— 46 45 91 12. 0 79. 0
38 I | FrdR FHHI 48 16 94 14.0 80. 0
39 {\f | thffe Fiedk 44 49 93 12.8 80. 2
A0 () fhi B 47 44 9] 10.7 80. 3
41 L | A BFE 51 56 107 26. 6 80, 4
42 7 | #TE 43 43 36 5.2 80. 8
43 i | AH w1 46 45 91 9.8 81. 2
44 i | G5 & 47 47 94 12.2 81. 8
45 {p)| R EA 46 46 92 9.6 82. 4
46 i | §E AT 46 43 89 5.4 83.6
47 {if | AR BEE 46 43 89 5.3 83. 7
48 {7 | T3 (FF 53 45 98 13. 2 84. 8
49 {ir | U= #55 55 51 106 21.1 84. 9
50 _{iL Fi M B 45 50 95 9.5 85. 5
51 {7 |&=H &— 57 52 109 22.6 86. 4
52 fir | TiE A%k 52 46 98 10. 2 87.8
53 {7 | HAs K 47 52 99 10. 7 88. 3
54 {i |/hr 0 BT 50 48 98 9.2 88. 8
85 (L i) #h 53 56 109 20. 1 88.9
56 if | FEM Fosk 53 48 101 11.5 89.5
57 {7 | B4R & 53 52 105 14, 2 90. 8
58 {if | Fi A Fif 68 61 129 35. 5 93. 5




HERN Ma—2A

BAfER{T : 4f0 64E10H27TH (A) NFH =257
BEHFE . BHAVT BIMAY ATA (B 440 - &fE:3A)
HDCP LR : 36 THEIn T . &L
a—R MW 1/ D
FERLHE :© BT LGRS VIR - Elib (VB ENRY . & 64E10A 278 (R)
NERL— BINE4 i ik GROSS HDCP NET e
N TR 41 40 81 12.5 68. 5
CEE R A CFH 46 42 88 18.8 69. 2
(3 i =i i 46 38 84 14.2 69. 8
(4 (D] 48 AT 41 44 85 15.2 69. 8
52 HF BE 41 44 85 14. 4 70. 6
(6 | N B 44 42 86 15. 4 70. 6
EAEENCES 43 4] 84 12.0 72.0
'8 {ir| IR 42 42 84 11.6 72. 4
(9 47 | 25 ELAK 42 48 90 17.5 Te
10402 | AR A 42 41 83 10,2 72. 8
11 {7 [RE §2 42 43 85 T2 73. 8
12 fif | fligk F15 46 40 86 12, 1 73.9
13 fif | BTl IR 46 40 86 12. 1 73.9
14 {7 | YA K 51 47 98 24. 1 73.9
5 f) teak K= 44 44 88 13.9 74, 1
16 iz | AR RIA 43 43 86 11,7 74. 3
17 {7 | HEE =58 48 45 93 18.7 74. 3
18 i | BN Eilf 48 48 96 91.7 74. 3
19 {7 | /NE AR 43 40 83 8.6 74. 4
(20 | B UL 45 44 89 14. 4 74. 6
21 ff | HH B/E 45 44 89 14. 0 75.0
22 fif | 1Ejk &+ 37 46 83 7.6 75. 4
23 L |38 K5 46 43 89 13.6 75. 4
24 i |FEH FH 53 41 94 18.3 75.7
(25 (0| =[E =B 45 43 88 11.8 76. 2
26 i |JEM 5= 50 46 96 19.7 76. 3
27 {F | g 1= 47 52 99 22.6 76. 4
28 {ir | Pkt FRAR 48 44 92 15. 5 76. 5
29 {if | Bk BB 46 49 95 18. 0 770
B0 BEW 1 53 45 98 21.0 7.0
3L | ER E=E 48 45 93 15.8 3.2
32 i | /hA) FRH 45 45 90 11.8 78. 2
33 {7 | PEHE B 47 49 96 17.6 78. 4
34 {r | T i 51 47 98 18.8 79.2
@b ) Bl ——= 49 44 93 13.6 79. 4
36 fir | Al 5 59 49 108 27.9 80. 1
37 L | FEkH T 52 46 98 17.6 80. 4
38 i |BFa 0 HH 47 57 104 23..8 80. 5
39 _{r | Eiks IE 46 48 94 13. 4 80. 6
@0 {ird Eim R 47 50 97 15.2 81.8
41 7 | PR S 50 48 98 15. 4 82.6
42 (L | 5|8k B 50 48 98 15. 4 82. 6
43 {if | fHek S 52 53 105 21. 4 83. 6
44 {7 | Bk K 50 50 100 16. 2 83. 8
45 {7 PR FofE 57 54 111 93,7 87.3
46 {7 | IR BWE 50 50 100 11.9 88. 1
47 I | EmE Ek 49 57 106 18,7 92. 3




